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1.

The main characteristic of basic instinct is
that which is found

(1) ,Only in Cats and Rats

(2) Only in human beings

(3) Al organism and it is inborn and natural
(4) Only in Artists

The right to free and compulsory education
for children hetween age group of 6- 14 has
been included in Indian Constitution as
(1) Article 15

(2) Article 26

(3) Article 45

(4) Article 21A

Kretschmer has classified the persons in:
one of the following main types

(1) Athletic (2) Asthenic

(3) Picnic (4) All of these

Purpose of T.E.T. is measure which of the
following ?

(1) Aptitude
(3) Attitude

(2) Intelligence
(4) Values

Consolidation theory explain which of the
following ?

{1) Memory
(3) Motivation

(2) Learning
(4) Creativity

Who has given the Concept of Educational
Quotient for backward children ?

(1) Schonell

(2) Gorden

(3) Burton Hall

(4) Cyril Burt

Which among the following is different from
characteristics of a good test ?

(1) Validity
(2) Reliability
(3) Objectivity
(4) Aptitude
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10.

11.

12.

13.

14,

15.

Which of the following is not theory of
intelligence ?

(1) Two factor theory

(2) Unifactor theory

(3) Theory of regression

(4) Multifactor theory

Which one of the following is not ductless
glands ?

(1) Pituitary glands

(2) Adrenal glands

(3) Salivary glands

(4) Thyroid glands

According to Piaget the second stage of
cognitive development is

(1) Formal operations stage

(2) Sensory-motor stage

(3) Pre-operational stage

(4) Concrete operations stage

Which of the following is the most subjective
method of educational psychology ?

(2) Introspection
(4) Experimentation

(1) Extrospection
(3) Observation

Albert Bandura is associated with which of
the following ?

(1) Behavioural Theory

(2) Social Learning Theory

(3) Cognitive Development Theory

(4) Psychosexual Development

Plateau in learning curve is caused due to
(1) Motivation

(2) Maturation

(3) Fatigue

(4) Interest

Mirror Drawing Test is used to measure
(1) Transfer of learning

(2) Rate of learning

(3) Creativity

{4) Interest

Cloud Picture Test is used to measure:
which of the following ?

(1) Personality {2} Intelligence
{3) Aptitude {4) Interest.

LPTO.
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What s the factor influencing physital k“é

development in the following ? 23,
(1} Environment f
{2) Heredity f
(3} Bparts and exercise {
(1) All of thene (24,
Whieh of the following is correct formula 5 f
Hr coleculate 1.0), ? J
i [
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C.A. #1000
Who described ‘Reflective Thinking’ l'rom -
the following ?
(1) Ross - (21 Dewey
(3) Woadworth (4) Drever .
Which is not included in the levels of '
inductive reasoning ? = 3
(1) Experiment i 27,
(2) Observation |
(3] Generalization A
(4) Imagination
. 28.
Failure in retention and recall of leamnt
content is ]
(1) Memory (2) Forgetting
(3) Retention (4) Thinking
Five years old Mohan has mental ng of 29
eight. What is his [.Q. ? -
(1) 160 (2) 150 A
(3) 140 {4) 135 %
Which 1.Q. range is called trainable iQ e
level of mentally retarded children ? &
(1) 50-69 {2) 70-79 3
(3) 36-49 (4) 35 and below
i Pap

iﬁ A e
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. T 3 1 7 e 1 & Ry WA | 23. Rorschach ink blot testis used to measure

23, IMIF
fr a7 which of the following ?
(1) g (? sy (1) Intelligence (2) Personality
{3) wf & A {3) Interest (4) Aptitude
g, g g B EC e & 24. It is not the cause of forgetting
(1p m?ifm : (1) Desire to remember
{2) m%ﬁ (2) Under learning
(@ 4 Af (3) Mental conflict
v 1 QIS I (4) Defective methods of remembering

()
g fomm el o ¥ T H0, R 28, The science which deals with the method

25,
0, Fega F, T w0 3 = w6 of collecting, classifying, presenting,
afrd wrfAya 8, 9 FEa & comparing and interpreting numerical data
1) nforel is called
- (1) Mathematics
(2h wiferH (2) Statistics
(3) (3) Geometry
(4) woed (4) Probability
0. BEARA wafme? 26. Find the odd one out.
(1) 16-. T (1) 16-P.F.
(o &Ta ' (2) TAT.
(3) T T (3) Raven’s test
(4) 9T TE (4) Draw a man test
27. 7,8,9,10, 11, 12 1 AEAI® & 27. The median of 7, 8, 9, 10, 11, 12 is
(1) 9 2) 8 m 9 (2) 8
(3 10 (4) 9.5 (3) 10 (4) 9.5
28, T FER % g ot wiered fern 28. Who has propounded the theory of
(1), TeTreeard AR insight ?
e (1) Gestalt Psychologist
B (2) Thorndike
(3) e (3) Hegarty
(4) ferTt (4) Skinner
29. W%Wm@gﬁﬁmﬁm% 29, According to McDougall, every instinct is
an o) HIH associated with
(1w @ (1) Emotion (2) Cognition
(3) & (4) faA (3) Sensation (4) Thinking
30. Td gWd ¥ 3R W AT Bl a1l ye[ FE! 30, Giving meaning to sensation on the basis
FEATI R of past experience is called
(1} TR (2) T (1) Perception (2) Sensation
(3) arfiron (4) (3) Motivation (4) Imagination
5 [P.T.0.
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61. Bees are kept in

(1) A nursery (2) A pantry

{3) An apiary (4)  An aquarium
62. The idiom '‘green-eved monster’ means

(1)

To be sick

{(2) To be jealous
{3) To be angry
(4) To be blind
63. Seclect the sentence in which the article has
been wrongly used.
(1) Twelve inches make a foot.
(2] Heis a M.A,
(3) A pupil should obey his teacher,
{4) He is a European.
64. Pick the correct question tag from the
options.
People shouldn’t drink and drive,
(1) should not they ?
(2) should they ?
(3) isn’tit?
(4) shall they ?
65. Point out the part that has an error in the
sentence.
You are learning English/for the last one
A B |
year/but you show/no improvement at all.
b D
(1) B 2) A
3 C 4) D

Read the following passage and answer the
questions from 66 to 70 based on it,

Work expands so as to fill the time available
for its completion. The general recognition of this
fact is shown in the proverbial phrase; It is the
busiest man who has time to spare.’ Thus, an
elderly lady at leisure can spend the entire day
writing a postcard to her niece. An hour will be

Paper - 2/C

spent in finding th the
fr?r apectacles, half an hour to search for

address, an hour and a quarter 11 Compomt;oor;
and twenty minutes in deciding whethe'rlor .
to take an umbrella when going to the pillar

in the street. The total effort that
a busy man for three minutes, al
this fashion leave another pt
exhausted after a day of doubt, an
toil.

66.
lady in writing a postcard ?
(1) A [ull day
(2) Three minutes
(3) Four hours and five minutes
(4) Half an hour

67. What happens when the time to be spent

on some work increases ?

(1) The work is done leisurely

(2) The work is done smoothly

(3) The work consumes all the time
(4) The work needs additional time

68. What does the expression ‘pillar box’ stand
for ?

(1} A box in the pillar

(2) A box attached to the pillar ~

(3) Box office

(4) A pillar-type post box

69, Who is the person likely to take more tim
to do work ?

(1) An elderly person

(2) A busy man

(3) A man of leisure

(4) An exhausted person

¢ postcard, another hunting

would occupy
1 tOld’ may n s
rson Cﬂmpletely B
xiety and-

lderly |
What is the total time spent by the € erly. '
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Point out the most appropriate ex

70. 1 _
of the sentence. Planation
WWork expands so as to fill the tima 4..:
for its completion.’ available

1) Whatever time is available "

(1) amount of work, all of it will b:lg;viln

(2) Themore work there is tg pe i :-h-
more the time necded, y the

3) Ifyou have more time, yoyy can

: work, do more

4) If you have some important

( do, you should alwayg hav::msr{: to
additional time. me

71. Choose the correct Sentence,

(1) The committee Was one on this pojnt,

(2) The comnn_ttee WEre one on this point.

(3) The committee was divided on this
point.

(4) The committee have one on thig
point.

72. Which of the following is an example of
Simile ?
(1) Life is a dream
(2) 1wandered lonely as a cloud
(3) Anxiety is sitting on her face
(4) A lie has no legs

73. Change the following sentence into Active

Voice.

“The visitors were shown the new-born by
the woman.”

(1} The woman has shown the new-born
to the visitors,

(2) The new-born was shown to the visitors
by the woman.

(3) The woman showed the visitors the
new-born.

(4) The woman might have shown the

new-born.

74. Select the antonym for the word.
‘Adverse’
(1) Friendly
{2) Hostile
(3) Inimical
(4) Unwilling

Paper - 2/C

75. Fill in the blank with correct word to
complete the proverb.
“Blood is

(1) Thicker

(2) Thinner

(3) Purer

(4) Precious

than water.”

Read the given passage and answer the questions
that follow (Q. No. 76 to 80) by selecting the
most appropriate option.

Helicopters are very different from airplanes.
They can do three things that airplanes cannot
do. First, when airplanes move upward, they
must also move forward, but helicopters can
move straight up without moving ahead. Second,
helicopters can fly backward, which airplanes
cannot do. Third, helicopters can use their rotors
to hover in the air, which is impossible for planes.
Helicopters can perform actions that airplanes
cannot, they are used for different tasks. Since
helicopters can take off without moving forward,
they do not need a runway for take off. They are
used in congested areas where there is no room
for airplanes or in isolated areas, which do not
have airports. Because they can hover, they are
used on fire fighting missions to drop water on
fires. They are used in logging operations to lift
trees out of forests. Helicopters are used as air
ambulances to airlift patients out of situations,
which are difficult to reach, by conventional
ambulances. The police use helicopters to follow
suspects on the ground or to search for cars on
the ground. Of course, helicopters have military
uses because of their design and capabilities.

76. The word ‘congested’ in the passage
means
(1) The place has no place
(2) The place is roomy
{3) The place can be accessed by police vans
(4) The place has so much of smoke due
to fire

77. A helicopter can hover while an aeroplane

cannot, according to the passage. ‘Hover'
in the passage means

(1) Move straight up in the air
(2) Stay at one place in the air
(3) Go backward in the air

(4) Fly sideways

[P.T.0.
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78,  Point out the grammatical category of the
word ‘perform’ in the passage.
(1) Verb (2) Noun
{3} Adverh (1) Helping verb

79. Whyisn helicopter viged nn an ambulanee 2
(1) It crosses all difficultios of 1raffic
(2} Us movement ¢an be manoenvred
easily
(3) M reaches the innceessible plnces
casily
(4) It can fire fight
80. Point out the grammatical eategory of the
underlined word Yvery'in the above passage.
(1) Adjective (2) Adverl
{3) Noun (1) Verl
81. Give one word substitution for ;
The scientific study of insects.
(1) Entomology {2) Criminology

(3) Mycology {(4) Meteorology
82. Point out the correct direct speech of the

following.

I asked why he was looking through the

keyhole.

(1) Do not look through the keyhole’
said.

(2) ‘Are you looking through the keyhole ?’
I said.

(3) ‘Why are you looking through the
keyhole ?’ ] said.

(4) You are looking through the keyhole ?’
I said.

83. Put the verbs in brackets into the correct

present tense,

My daughter never (write) to me so I never

(know) what she (do).

(1} My daughter never write to me so I
never knew what she does,

(2) My daughter never wrote to me 8o |
never knew what she do,

(3) My daughter never writes to me so |
never know what she is doing,

(4) My daughter never writes to me so |
never knew what she does.

Paper~2/C 10

84

a5.

86‘

87.

88.

89,

90.

Pick out the correct synonym of the Worg,

‘Cantankerous’
(1) Quarrelsome
(2} Ragh

(3) Noiay

(1) Diarr_‘npccfﬁl!

Pick out 1 sentence that has a

dr:mnnsrrnti'm adjective in it,

(1) This kind of question is often asked i
Examinations.

{2) Itigq twenty-kilometers walk.

(3) Each of them received ten rupees,

(4) His Written statement differs from his
oral one,

‘To chew the cud’ correctly means
(1) To dije on duty

(2) Contrive against someone

(3) To Mmeditate

(4) To inculcate virtyes

Complete the following sentence with most
appropriate chojce.

‘He was Very much ashamed _____ his
mischief,’

(1) of (2) for
(3) with (4) over

Complete the following sentence with
appropriate choice,

! he stood first, he would have
gone to America.’

(1) Had 2) 1
{3) Have (4) Anyways
Fill in the blank.

‘Of the sword and pen the is
more powerful.’

(1) later
(2) last one
(3) latter
(4) last

Which prefix can be used with the following
words ?

behave, guide, use

(1) dis (2) in

(3) mis (4) re
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gCIENCE
. oonsist of 20 compng;@-ﬁ

RO B o n 10 meter length, The _:

and 20 rarc i
wavelength of
(1} 50 um
3) 75 em :
it & ong ¢ pe respectively the absoly
3 T2 :

refroctive index of vrater and glass, t1'1-'-‘73.1':
refractive index of gla3s relative 1o water

(2)

(4)

wave i8
(2)
{4

25 cm
100 cm

=
a

(1)
(3)

(S - s
Bl Ol

In Household wiring, what is the colour
“Earth wire” 2

(1) Green {2) Red
(3) Black (4) White

Kirchhoff's current law based on conservation,
(2} Energy
(4) Mass

(I} Momentum
(3} Charge

The decimal number equivalent of binas
number (1101), is
(1) 11
(3) 13

2) 9
4) 15

What is silk farming ?
(1) Pisciculture {2)
(3} Sericulture {4) Agriculture

Epiculture

All organisms belonging to Kingdom
Protista are

(1) Unicellular and prokaryotic

(2) Unicellular and eukaryotic

(3) Multicellular and prokaryotic
{4) Multicellular and eukaryotic

Which of the following pigment is associates
with the germination of seeds ?

(2) Phytochrome
{(4) Xanthophyll

(1) Plastocyanin
(3} Chlorophyll
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99.

100,

101,

102,

103.

104,

1085,

The tissue that connacts ons none vt the
other bane {s called

(1} Cartilage

(2) Adipoue tissue

(3} Epithelfum

(4} Ligamenta

Viviparous germination of seeds oo in
(1)
(%)
(3)
(4)

Rhizophora
Mangn
Potato
Bugarcane

Sl unit of heat is
(1) Erg
{3) Calorie

12) Jerale
(4) Watt

F o

P== 2 r=os

(1) Py (2 =

5 _F F

I e— P —

@ P=— 4 P==
If the momentum of body increas=s fom

10 unit to 25 unit in 5 sec, then werkng
force acting on it is

(1) 2unit

(2} 1 unit

(3) 3 unit

(4) 4 unit

Mica is used in cooking utensil because itis

(1) Bad conductor of heat but gocd
conductor of electricity

(2) Good conductor of heat but bad
conductor of electricity

(3) Good conductor of both heat and
electricity

(4) Bad conductor of both heat and

electricity

Angle of dip at magnetic pole of earth is
(1) 45° @ 0°
(3) 90° (4) 135°

[P.T.0.
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104,

107,

108,

109,

1 10.

111.

112,

N

-
M

! i ol Een lihey e tn lwplhd_
Fhe soniven 24 !
i_h““-”; };h.‘thln\’“lllr‘ :
il:l “'11“'|

(‘I (‘l”h”” f““’!hlr.

(N Ohoeone

M Chlorophytl

i

Mhe compopent of blood that prrwm”
l‘h!!lln;'_ in et blood venasly 14

(Y Heparin

(4) Antihody

() Thrombin

(1) llnt"nm;{lnhin

Isleta of Langerhans are preaent In
(1) Liver
(2) Stomach

(3) Pancrens
(4) Heart

Enzymes are chemically
(1) Acid

(2) Lipid
(3) Carbohydrate
(4) Protein

Which of the following acid is also a vitamin *

(1) Ascorbic acid
(2) Formic acid
(3) Malic acid

(4} Palmitic acid

The monomer of natural rubber ig
(1) Isoprene

(2) Neoprene

(3) Terylene

(4) Orlon

Which compound has highest boiling point |

(1) Isopentane
(2) n-pentane
(3) Neopentane
(4) Tsobutane

S

SEER

b e
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b o B & - QR 7 e 4 7
(1] ﬁ [2) ﬁ@a
@3l Yt 4 (4) Tesam
e, g A A R R e
S Za 2 | D R |
(1) Mg (2) Na
{3) Cu (4) Ca
Frerrafaa 3 B Tred ot < den siftream
& ?
(1) co,¥16g  (2) N, ¥16¢g
(3) CHF16¢g (4) O,%16¢
e it wftfeeia i e f 7 & fras
mﬁs‘:ﬁaﬁvmaﬁ%?
(1) KMnO,/OH /H,0
(2} Br,/H,0
(3) TR Afds
(4) Fefem e
A Dt § | foem ifirs o aifadfiom
il g +2 8 7
() Na,0 (2) OF,
3) NaO, (4) NaO,
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118.

119,

120.

The number of z-electrons in molecule of
aromatic compound is

(1) 4n+)

(2) 4n

(3) 4n+2

4) 2n+4

Rutherford's alpha () particles scattering
experiment resulted into discovery of

(1) Nucleus in the atom

(2) Proton

(3) Electron

(4) Atomic mass

Which one of the following is nota
heterogenous mixture ?

{1) Milk (2) Air

(3) Smoke (4) Jelly

Which of the following is not a constituent
of petroleum ?
{1} Coke

(3) Paraffin wax

{(2) Petrol
(4) Lubricating oil

A metal M’ does not liberate hydrogen {rom
acids, but reacts with oxygen to give a black
colour product. Identify ‘M’

(1) Mg {2) Na

(3) Cu (4} Ca

Which of the following has maximum
number of atoms ?
(1) 16gofCO,

(3) 16 gof CH,

(2) 16gofN,
(4) 16gofO,

In laboratory, ethylene and acetylene can
be distinguished by

(1) KMnO,/ OSIHJO
(2) Br,/H,0

(3) Tollen’s reagent
{4) Fehling solution

In which of the given compound oxidation
number of oxygenis +2 ?

(1} Na,0 (2) OF,

(3) NaO, (H) NaO,

| P.T.0.
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(1) 25000 rn (2) 20000 7
(3) 30000 $m (4) 15000 91M
122, 1A 52 7 ) g 2 s e e @ e
%|mmﬁaam7%f%sw§3mmﬂmswﬁ?
6 4
1 S aia
M 5 @ 3
3 8 2
(3) T (4) -
123, i%aﬁmcnqaaaﬁaam{a%mwﬁﬁgm
(x y)#
(1) (107, 159) (2) (15° 259)
(3) (15°, 359 (4) (40°, 35°)
124, x%ﬁfﬂm%%qﬁnﬁa:amawz?%?
25, 26, 27, 23, 27, 26, 24, x, 27, 26, 25, 25
(1) 24 @ a7
(3) 25 (4) 26
125, ?Tﬁ':’x=2,y=1,z=—33'1,ﬁ.1x3+y3+z3—3xyz
T 2
(1) 2 2 6
(3) 8 (4) 0
126. ST UF 98] ¥ 9% 469 § 10% 9 W ghea
2 3R T F 10% 3w @ AT 2 | 3w
o &
(1) 22%% (2) 20%
(3) 22%% (4) o & i e
127. AREHEF %2 - px + 54 = 0% yA2: 3 %
e i €, A p W R
(1) 21 (2) 18
(3) -21 (4) 15
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121,

122.

123,

124‘

125.

126'

127,

akes an advertisemep

collect a capital of Rs. 25 !lfa(-:rsﬁoil;sgare&
the f}drintnd price of ont;- ssharc;s ‘Ciré:-llll!
then find the number o a

by the company
(1) 25000 shares
(3) 30000 shares

From a pack of 52 playing cards one ca
is drawn at random, What is the prﬂgabxh
that the eard is a spade or an ace :

A company M

(2) 20000 share,
(4) 15000 share,

4

m 2 2 13
8 4) 2
(3) = (4) :

In figure ABCD is a cyclic quadrilatera],
then the ordered pair (x, y) is

A B
;‘i E 4x§"
Ay * 20 '”',, 5

C D

(1) (107, 159)
(8) {180, 357

{(2) (15° 25°)
(4) (40° 359

For what value of x the mode of the
following data is 27 ? '
25, 26, 27, 23, 27, 26, 24, x, 27, 26, 25, 25.
(1) 24 2) 27

(3) 25 (4) 26

fx=2,y= 1,z=-—3,thenx3+_y"+zs-3xyz'
equals
(1) 2
(3) 8

(2) 6
(4) 0

Jatin buys an article for 10% less than its
value and sells it for 10% more than its
value, his gain is ,

(1) 22%% (2) 20%
)

(3) 22%% (4) None of these | 1

If the roots of the equation x? - px + 54 =5
are in the ratio 2 : 3, then the value of pi
(1) 21 (2) 18 !
(3) -21 (4) 15
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132.

133.

134,

Ratig of the

heights of v S
Cones iy 25 B ol two right circular

64 and ratip of their diamaters

is 4. ;

: 3. The ratio of their volumes is

. Lug @ 1:3

9 5:8 (4) 1:2

gi‘ =i X is a letter in word BELOW},
c _ ‘X ixisaletter in word WOOL) and
s i‘sﬁ - B, then the number of suhsets of
) 2 @ 1

8) 3 4 4

The perimeter of a rhombus
diagonals are 10 em and 24 cm is

(1) 34 cem (2) 120 cm
(3) 68 cm (4) 52 cm

whose

Which of the following statement is true ?
(1) Equations can be learnt without
learning arithmetic.

Different branches of mathematies viz.
Algebra, Geometry ete, are dependent
on each other.

Congruence of triangles can be learnt
without learning algebra.

Statistics can be learnt without
learning algebra.

(2}

(3)

(4)

Which among the following is the best

pedagogical way to teach mathematics ?

(1) Find the weakness and teach only
those parts

{2) Motivate the learners to develop their

existing capabilities

Find the gaps and address only them

Teach every student with the same

approach

(3)
)

If A’s salary is 25% more than that of B,
then how much percent is B’s salary less
than thatof A ?

18% (2) 25%
) 20% (4) 15%

m of two natural numbers is 8. Determine
tsltle numbers if the sum of their reciprocal

is 1%
(1) 4,4 2 1,7
(3) 2,6 4 3,35

[P.T.O.
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135. el aftam s e sa fnc farg & areEn 2 |

136.

137.

138.

1389.

140.

141.

Ifs faan aun g 9 @< % e T 4,000 B, O
TRER #it Fe g et @ft 7

(1) T40,000 (2) ¥ 50,000
(3) ¥ 60,000 (4) 30,000
oyl s A o ol geul ) e

1 3T 3 : 2 o7 | 20 3R TEN & A § g

Iere T | el Y dwn fonat oft 7
(1) 40 (2) 36
3) 16 (4) 24

7 o arafas wEmal a, b, ¢ % fom afE

a_b_c_2a-3b+3C g FKFAAR
5 3 4 K

(1) 15 2) 10

(3) 20 4) 25

A BFE A age E, R A-B=AT,
FGANBE
1 A
(3) B

I FHERY x2 - bx + ¢ = 0 % 7 a1 HAI
quifes dead &1, 61 b? - 4c

(1) -1 @ 1

3) 0 (4) 2

€ gErel o 5.9, 3 a9, FA: 13 3 1989
3 ofs wwEE 117 9, @ 380 ¥E 8

(1) 221 (2) 222

(3) 223 (4) 225
ﬂﬁa,a+2,a+4ﬂﬁﬂfﬂ‘&i@ﬁﬁ,ﬁ‘a’&i
Erckich

2) ¢
(4) AUB

(2) @&
(4) @98 wE

136.

137.

138.

139.

140.

141,

22

185. The expendit

family in 2 month‘.-
e 3 %t the difference ofj
jgure- .ducation and travel’

Ec?:si?rbe the total income of;
a i

is given i1
expenditure
is !{ 4,000, w i
the family ? 1

i

tfouse Rent
20%

Educatlon
25%

Savings
20%

(2) ¥50,000

1) ¥ 40,000
A (4) ¥ 30,000

(3) % 60,000
e ratio of number.

3:2.When20

reversed,

In a religious gathering th
ofladies to that of gents was
more gents joined, the ratio was
The number of ladies was

(1) 40 (2) 36

(3) 16 (4) 24

For three non-zero real numbers a, b, ¢ if
a_b_c_2a-3b+5C thevalueofKis.
2 8 & K

(2) 10

(4) 25

IfA and B be any two sets such that A—-B =4,
then AnBis
(1) A
(3) B

2) ¢
4) AUB

If the roots of the equation x*-bx + ¢ =0 an
two consecutive integers, then b2 -4c is
{1y -1 2) 1

3 0 4) 2

The HCF and LCM of two numbers is 1

and 1989 respectively. If one of the numbe
is 117, then the other number is

(1) 221 (2) 222
(3) 223 (4) 225

Ifa, a+ 2, a+4 are prime numbers, the
the number of values of ‘a’ are

(1) Two (2) One

(3) Three (4) More than thre
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143.

144

145,
i 146.

147,

148.

149,

150,

a3 ) T A 7 ey zﬁmaﬂ

1) 1899 @ o099 oM
(3) 0000 (4) 9801 7
gax™+ 1@ x - 18w fag

q 7 W;'ﬂ’lﬂqm
(1 1 & 0

(3) 2 (4) -1

afR A 3 B 899 C % aflaq i
AvAnDB) FUST R 3}, A

(1) AUB 2 Anp
(3) A 4) B
@ﬁaaﬁmnﬁa&s‘%a@
ﬁwnﬁﬁmﬁwmm@@%mﬁm
< e R of 7 W wa
(1) 4430 (2) 4499

(3) 4200 (4) 4000

Qa;aawffﬁmﬁaw*@emo%mﬁm
loﬁauﬁas:mwat.samﬁwwms.sﬁ,a‘(

QST AT ]

(1} 3.80 (2) 2.82

(3) 3.75 (4) 4.25

R SRc R TR S —

@aﬁqﬁﬁmmm%mﬁmmw
T3 -

(1) 1134 3 (2) 924 g

(3) 2464 T (4) 616 TP

50 e € 7 § | o e = 53 7 A wewn
1 R 3R gTe Hered 5 med 3.5 % 14
Fensdt < are
(1) 53.5

B} 46.5
®iwit 5, 9, 14, 15, x + 1, 2x - 13, 26,
30,30, 34 % TS T 1 R e ST E |
e} oy ieeh 24 8 | x FIAAE

(2) 49.5
(4) 56.5

() 19 (2) 20

) 21 (4) 16

W e i 44 a9 Rt f s iet € | el et
3 el e T 12 Rt B i ¢

M) i@ (2) 15T S

B pimiww (@) 15T

PﬂpErh 210 :
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146.

147'

148,

149,

150,

Find th :
Perfect :c?é%gr?t 4 digit number which is a

1899 (2
9999
2000 (4) 9801

I8 the remaire - 0ed BY X~ 1, then what
I

(1)
i 2) 0
(3) 2 (4) -1

IfAand B are non-empty subsets of a set C,

then A U (A A B) is equal to
(1) AUB 2) AnB
(3 A (4) B

Tglc population of a village increases by
% yearly. If at present the population
of the village is 4410, then what was the
Population before 2 years ?

(1) 4430 (2) 4420

(3) 4200 {(4) 4000

The number of observations in a survey is
40. If the mean of first 10 observations is
4.5 and that of remaining is 3.5, then the
mean of whole survey is

(1) 3.80 (2) 2.82

(3) 3.75 (4) 4.25

A right circular cylinder of maximum
volume is cut from a solid cube of edge 14 cm.
The total surface of cylinder is

(1) 1134 cm?® (2) 924 cm®
(8) 2464 cm? (4) 616 cm®

There are 50 numbers. Each number is
subtracted from 53 and the mean of the
numbers so obtained is -3.5. The mean of
the given numbers is
(1) 53.5
(3) 46.5

Ten observations 5,9, 14, 15,x+ 1, 2x- 13,
26, 30, 32, 34 are written in an ascending
order. The median of the data is 24. Find
the value of x.

(1) 19 (2) 20

(3) 21 (4) 16

44 cows can graze a field in 9 days. How
many less/more cows will graze the same

field in 12 days ?
(1) 11 cows more

(3) 11 cows less

(2) 49.5
(4) 56.5

(2) 15 cows more
(4) 15 cows less

[ P.T.O.
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MR - & TS
IV (2) / PART - 1v (2) g SUBJEC

; f*m"l"’"*‘* HUrT /3 R  BOCIAL sTUDIES /O THE ated in
0 AV 3 91. Bhilai steel P i
ibidn (1) -Jharkhand
(28 Tm’mr.ﬁ? ﬂ (2) Chhattisgarh h
l te i (3) Madhya Prade® i
(4) s i (4) Odisha o
T llowing rocks is g
22, frafafua daiv g -1 arrard) fy a 92. Which one of the rock ?
2§ p example of sedimentary
(1) @mon (1) Marble
2) = (2) Slate
(3 31 (3) Shale
(4] U2 (4) Granite
93. gwma-mH e A fom wdg Bieft R | 93, The tail of a comet always points
(1, TWa gl (1) away from the sun
() TH :’m (2) towards the sun
(3} F-73 3R (3) towards North-East
(4) alew-gd t ain (4) towards South-East
94, frofaiEs §3 s ynd Tt g 7 94, Which one of the following is associat:
(1) Ffeer= g with fault ?
il Eé} ig:il::?i;?rli?m
(3) 3*?35 (3) Hogback
[4} PAEE (4) Graben
95. GefEfaaiass IUmREY geea wEi § 7 95. Which one of the following is not a tropic
desert ? |
(1) = I_raq' (2) Semrm (1) Arabia (2) Atacama
(3} = (4) wwreTET (3) Gobi (4) Kalahari
96, UTHM GiEEM H F-wr wm M afmR Y 96. Which Part of the Indian Constitution de:
Hafua g 7 with Fundamental Rights ?
(1) s (2) I (1) PartII (2) Part]
(3} ¥ 4) wmv (3) Partin (4) PartIv |
97. duwHdl U9 %1 ggs w1 vy Prefifea 1 9-m | 97, Whicn one of the following Amendmer
el T dvives R 7 of the Cfonstitution of India deals with {
! issue t heni ?
(1) 44 o i Raju? ol strengthening of the Panchay
(2) 4297 g Eé{ 4;“;Amendment
4 42™ Amendment
(3} 73 37@‘” (3) 73Amendment
(4) 86 o guitvm (4) 86™Amendment
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98,

ggo

100,

101,

102,

103.

104.

The office

13 sjtuateq n
London

(3) The Hague

0:'!!1ternational Court of Justice

(2} New York
(4} Paris

Population cantrol and family planning

I8 listed in which Schedule in the Indian
Constitutinn ?

(1) Union list
(2) State list

(3} Concurrent list
(4) Residual subjects

Which one of the following Directive
Principles related to Foreign Policy ?
(1) Article 49

(2) Article 48
(3) Article 50
(4) Article 51

Inversion of temperature means

(1) Increase of temperature with height
(2) Decrease of temperature with height
(3) Constant temperature with height
(4) Fluctuating temperature with height

Which one of the following reservoirs is
associated with Rihand Project ?

(1} Govind Ballabh Pant Sagar
(2) Gandhi Sagar

(3) Jawahar Sagar

(4) Govind Sagar

Shipki La is the famous mountain pass of
(1) Uttarakhand

(2) Jammu and Kashmir

(3) Sikkim

{4) Himachal Pradesh

Social studies teacher should have the
knowledge of subject matter as well

(1) Teaching methods
(2) Educational objectives
(3) Teaching technology
(4) None of these

[PT.O.
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(4} 1880%. 4.

=9 8 51w wie § el T f ?
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(2) forea =1 qerfires Wl
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107.

108.

1089.

110.

111,

112,

tcaching materig]

!
The most u.sefu

Geography 1°

(1) Map

(2) Calendaf

(3) Flash C«’ﬂlfr

(4) Baromete

written by
(2) Vedavyas

(4) Valmiki

‘Aghtad hyﬂ)’ce’ was
(1) Panini

(3) Shukadeva -
The Second puddhist Council was

reign of

during the it

(1) Mahapadm
(2) Udayabhadra
(3) Shishunaga
(4) Kalashoka

Akbar constructed 1badat-Khana’ir

(1) Fatehpur Sikri (2) Afgra
(3) Delhi (4) Sikandara

The Arya Samaj was founded in the ;
(1) 1870 A.D.
(2) 1865 A.D.
(3) 1875 A.D.
(4) 1880 A.D.

Who among the following was notassoc
with the Kakori case ?

(1) Rajendra Lahiri

{2) Ramprasad Bismil

(3) Ashfaqullah Khan

(4) Surya Sen

Which one of the following is the
suitable teaching aid to show proportic
size and shape of continents ?

(1) Physical map of the world
(2) Political map of the world
(3) Globe

(4) None of these

The suitable method of geography
teaching is

(1) Discussion method

(2} Tour method

(3) Story method

(4) None of these
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A universal language of the map can be
understood by way of

(I) Conventional symbals

(2) Sketch
(3) Alphabets
(4) Thematic maps

U-shaped valley is formed by
(1) River

(2) Glacier

(3) Winds

{4) Sea waves

The capital of Australia is
(1) Canberra

(2) Sydney

(3) Melbourne

(4) None of these

Who is the founder of Din-i-Ilahi ?
{I) Humayun

(2) Muhammad Gajanavi

(3) Akbar

(4) Shershah Suri

In whose reign did Hsuan-tsang come to
India ?

(1) Chandragupta Vikramaditya

(2) Samudragupta

(3) Harshavardhan

(4) Skandgupta

Who among the following emperors was
called ‘Qalandar’?
{1) Humayun (2) Babur

(3) Akbar (4) Shahjahan
The Governor General, who partitioned
Bengal was

(1) Canning {2) Curzon

{3) Minto (4) Mayo

Kunwar Singh was the Zamindar of which
State ?

(1) Jagdishpur (2) Barrack-pore

(3) Avadh {4) Bitthore

[P.T.0.
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d Vikrit swaragg,

] dh 2 ’ i Sangeets:
How marny shud i ndustan Sang et?-_.a_

> in

total arc there (2) :ff
(1) 08 (4) &
(3) 07 : 1is used %
e Gayaki Char ’[I;iz;mar &

ith whic 2
(1) Taraand :4; Khyal
{(3) Dhrtlpad “Tabla P]a.YET.’:

Amongst these who

(1) Zakir Husain

(2) Pt. Kishan Mah
(3) Ram Das Sharma
(4) Ahmed Jan Third

araj

kwa

. ﬂ'o v
Where was first «National Games . ;g::us&d
(1) Mumbai (2) g;‘;fmai
(3) Kolkata (4)

“Today India does X
a football ground.” This t
by which Thinker ?

(1) Swami Vivekanand
(2) Radhakrishnan

(3) Pluto

(4) Rousseau

not need Geeta but nee
hought was giv

Progeny of nucleus seed is
(1) Foundation seed(2) Breeder seed

(3) Certified seed (4) Registered see

Central Institute of Medicinal and Aroma

Plant is situated at

(1) New Delhi (2) Hyderabad

(3) Bhopal (4) Lucknow

The most suitable fruit for marmala
making is ;

(1) Jamun (2) Banana

{3) Malta (4) Bael

Central Food Technological Researt
Institute is situated at

(1) Maharashtra (2) New Delhi

(3) Karnataka (4) None of these

Which preservative is used in Jelly making
(1) Pectin (2) Sugar
(3) Sulphite (4) Sulphur dioxic

Community Development Programme wi
started in the year

(1) 1955
(3) 1957

(2)
(4)

1952
1960
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(3) 253@ (4) 28¥3

T 3G 3 1z % w1 I e ¢
1) g (2) 30 7

(3) wrftaw (4lp T T
u‘@aﬁmnmmm%?

(3) SO_W (4) 31 AT
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132,

133,

134,

135,

136.

137.

138.

139,

140,

141.

The Supreme Court of India enunciated

the Doctrine of Basic structure of the
Constitution in India

(1} Sajjan Singh case

(2) Shankari Prasad case

(3) Golakh Nath case

(4) Keshwanand Bharti case

Underwhich Article of the Indian Constitution,
the Governor has the power to reserve a bill
for the President’s assent ?

(1) Article 108 {2) Article 52
(3) Article 200 (4) Article 213

The Vice President of India is elected by the

members of an electoral college consisting of

(1) All members of both Houses of
Parliament

%} All members of the Council of States

Elected members of both Houses of
Parliament
(4)

Elected members of the Council of
States

Which country is not the member of SAARC ?
{1) Nepal (2) Bhutan
(3) Bangladesh {4} Japan

Saffron is obtained from
(1) Leaf (2) Bud
(3) Flower stigma (4) Calyx

How many ribs are there in human body ?
(1) 26 (2) 22
(3) 24 (4) 28

Which disease is prevented by T.A.B.
vaccine ?

(1) Diphtheria

{2) Tuberculosis
(3) Typhoid

(4) Pertussis

On which day in ‘International Yoga Day’

celebrated ?
(2) 21*June

(1) 20% June
(3) 25" June {4) 28™ June

In which clothes are resin starch used ?
{1) Cotton clothes (2) Woolen clothes
(3) Silken clothes (4) Nylon clothes

When “Sports Day” is celebrated ?
{1) 29 August (2) 25 August
(3) 30 August (4) 31 August

[P.T.0.
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142, 3 Hwery it ga A agin FAwE AR T | 140, Who is the au}};}ﬁé parshan H
(1) weff e book on YOB2. o rad 1z
(2) well wa (1) M“hmsg; AT :
(3 ] i 2) Maho'S: patanjall
(4) wafl Faw (3) Mahal: pevdatt :
(b B O (4’ Mﬂhﬂrs tcd io \,Vhich crgp? :
143. sl s wide fere wum A w2 7 143, ‘Zein’ protein is reid ) By
(1) WarEhd (2 v (1) Soybean (4) Oat
(3) w1 (3 EERY (3) Maize
.« dual purpose ?
144, T e et g w7 144, Which breed of €% i
(1) d (2) i (1) Jersey (4) Tharparkar
(3 Faedt (4) wIRERT (3) Sindhi ?
145. ¥ ) g e it g Al A aterman 27 | 145, India has divided in how Many Agw
(1) 12 @ 9 Climatic Zones? ¢ S
(1) 12
(B) 15 (4) 22 3) 15 (4 22 ;
146. ‘U@ N’ SdwEwRE 7 146. Who is the writer of ‘Rajpoot Painting’? .
(1) T HogE (1) Rai Krishna Das
(2) 3= %, FHRETH (2) Ananda K. Coomaraswamy
(3o Toeg M. ATl (3) W.G. Archer
(4) w=d 9 ad {4) None of these
147, % FE o Wy 147, Folk Art is associated with
(1) fowend (1) Painting
(2 ST TN R (2) Regional Art
(3) yfi wen @ {3) Modern Art
(4) et wen A (4) Pre-Historical Art
148, ST fewm o @ 148. Geometrical design is called
(L it ammesml & areft sl ) (1) Design made by geometrical forms
(2) wafEg ARl (2) Geometrical forms :
(3) wid s s = (3) Design made in square
(4) 79 a7 (4) None of these
149, T HEEY fFE T AR 7 149, Aipan is associated with which State ?
(1) nawew (1) Madhya Pradesh
(2) MWW (2) Uttar Pradesh
(3p HETU (3) Maharashtra
(4) 3IOUEvg {(4) Uttarakhand
150. fe=wrHigfia i sgf%uﬁ ! e fora g At 150. How many total numbers of Shrutees are
Tl?% 2 there in Hindustani Sangeet
(L T (13) (2} R (22) (1) 13 2) 22
(3) wmE(12) (4) N (9) (3) 12 (4) 09
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